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Ffust Semester B.Com. Degree tion,
August/September 2O2L

(CBCS Scheme)

Commerce

Paper 1.3 - FINANCIAL ACCOUNTING

Time: 3 Hoursl [Max. Marks : 7O

hctntctions to Candidates : Ansuer stnuld be uitten completelg eitlrcr in English or
in Kannada.

SECTION-A/$ADri-i

Answer any FIVE sub-questions. Each sub-question carries 2 marks :

(5x2=1Ol
oiDdlmdd,o odr {,dgied sr8oi. oSotoddn*2 trcdrldc:

(a) What is short working?

d.odg sud$nodded,

(b) Write any two objectives of conversion of single entry system into double
. entry system.

sddd)-od) dd"Eorod qd;jJ-adr ddogd dodgr-a:do$rd iddr sudjdrldd{3dno.

(c) Define hire purchase system.

zaBd 6oetrr$d ddogobd{ Jedrtdt On

(d) List any four accounting standards.

oin{.podd,ooaer*ejd*ua-g{J.neddrlaid{durJjDa.

(e) What do you mean by Dead rent?

d0qarDAd aoddedr?

(0 What is purchase consideration?

dndrrad ol) zJe! aodded,:?

($ What is pure single entr5r system?

*daed d;tu o& ddJ nodded,
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SEC'flON-B/s?rad-A

2. Calculate the cash price of an asset from the following :

Down pa5rment < 3,000, lst year instalment < 10,350, 2nd year instalment < 9,9OO
and 3rd year insta-iment t 9,450. Rate of interest at 5o/o p.a.

d, ddnd $dddeod ?"odJ er&oI dr'ldJ ajerondt dodJ 3oAo$o :

dlodd OeBd dea dn. 3,O0O, *ndo a-r&Ed dodJ d-o. 10,350, nddde m&Fd dod)

d.o. 9,,?00 drdl ;bndde -D&Fd dodr dn. 9,450, DA@dd de. 5.

Prepare an analytical table from the following details :

Minimum rent = { 2,OOO P.A.

Royality payable = ( 5 per kg
Right of recoupment of shortworking first four years

Output during the frrst four years,

I year - 3O0 kgs, II year 35O kgs, III year 4O0 kgs and IV year 450 kgs.

d dddod addrl€od oa6dd ed_ed6D dh3".dobool, :

do{znadro&ed=<2,000

&ed?.Je6ad tracddd = { 5 €,3 d.d.

dodd dlodcdodgd ddc* - drdode udor ddFridJ dado uaer:. ddrrld uuoardd

I ddF - 3O0 d.d, II dr,iF 350 d.d. III ddF 4OO d.d. drQ IV ddF 450 d.d.

Calculate purchase r:onsideration from the following :

(a) 1OOO equity shares of{ 10 each, issued at a premium of 107o

(b) 1OOO preferen,ce shares of{ 12 each
(c) 1000 10% Dr:bentures of{ 10 each @ 27o discount
(d) Cash { 9,OO0

dr dddod &ddri€orJ OOeA aJeroldldodr &Ao$O :

(a) 1000 FD$a,dd ded)rldr < 10, d)$derorr 10% dab,jdo dddo.;

(b) 1000 d/dd) d{d dedrrldc t 12 d,DDaJeJobO_

(c) 1000, 100,6 FDodgrldd{dr. 10 dDD zJdobdde. 2 EoJDo)g dddo

(d) dd6on 9,OOO dn. rldr.
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II. Answer any THREE questions from tl:e following. Each question carries 6 marks :

(3x6=181
oJ:admddo d)nrJ) 4dld€d ero$o:,. {,3 ioobd sugddr 6 sodridc :
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From the following information calculate total purchases.

Opening creditors < 1O,O0O, Cash paid to creditors < 6,400, Goods leturn to
creditors t 400, B/P issued to creditors < 2,ooo, Discount a-llowed by r)reditors( 20O, Closing creditors < 8,OOO, Cash purchase t 3,OO0.
dr ddnd dra&Srldod ?"0.rIdodr dndddidodJ &Bobo:

agdoqjd dod$ dn. 10,000, fiort€d doul",dddr dn.6,400, d&rtdrl z.rod dturtd dr.,-^D
dn. 400, dnddd. d:oarid o(Ad d.o. 2,OO0, i-oea dildcdooadr da. 2OO, eog;tu Coridr
d.o. 8,O0O, dridr $oeb 3,000.

What are the functions of accounting?

.r{*fJ EaoJ)F s@drldd{ sJBr.

SECTION-C/seDd-n

Answer any THRTE questions. Each question carries 14 marks : l3 x L4 = 421

oln$o-edda dlndr EgJed ou$03. {,3o1nod:4/dJ 14 uodrldc:

6

III

7 Indra and Sudha are partners sharing profits in the ratio of 2
balance sheet on 31- 12-2008 was as follows :

Liabilities Rs. Assets Rs.

Capital: Cash 15O

Indra l5,OO0 Bills receivable 2,5OO

Sudha 10,000 Debtors 30,OOO

Reserve fund 3,0OO Less : RBD 1,5OO 28,5oo

Creditors 20,000 Stock 21,850

Bill payable 5,000 Machinery 10,0OO

Indra Loan 10,000

63,O00 63,OOO

1 ard their

ltrey agreed to sell the business to a limited company and the company to take

orrei the assets including cash and liability as follows'

Machinery<8,OOO,Stock{17,5OO,Debtorsatt25,350,BillsReceivable
at t 2,500, Goodwill at ( 3,OOO.

The company agreed to take over creditors at t 19'5O0' The expenses of

n"rri"",i." ,rrror"rt"a to t 15O. The company paid ( 2o,0o0 in fully paid shares

of( 1O each and the balance in cash'

Prepare tJre necessa4r ledger accounts in the books of the firm'

316
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eoq $3.1 nrd aaeua-e0doi.r0$r eraCJ d*{Cd{2 : ld oilaaddO-doaldotbr$d&'

31-12-2oo8dod t.id e& dJdi are?Jdoo dr dddodoSJ:

a5aare60

z.pduod:

Eodr

ild

0Qrld)

pdrld.>

d-odzJeEad iloAddr

9o{, F-Je)

Years

2000

2001

2002

2003

t adsrr

drld)

aldajec-od d;o6rldc

saernodd: 30,000

dddr:Eo 1,5O0

6dDdJ

orrierg.saoo

d.n.

15,000

10,ooo

3,O00

20,ooo

5,OOO

1o,000

d,J.

150

2,500

63,000 63,O00

soq, $d; -;,.ld ddro aaeuoaod fo-;5old1 dod0olDn d0JgFnd aoEoddq dr dCdod

do6adddr<drdeD ?"*d&.

olrod.rgedddmd. dr. 8,000, mqd: dn. 17,500, FDorDddr d,o. 25,350, odtJ(E-od

d.rcBddr d.a. 2,5OO, EeBr dPero d6. 3,OOO.

E-6C?/d dod&ob raodddq d,,o. 19,50Od d drd.n-drer.) tu l.Jdred. Sdcaao dd.3 dr. 150

dodoob dr. 2o,Oooriddt d.o. lO J,Da)ddolr ded:rldQ dd) o)€d zn8of:d1 drld"r
drddqd.odSd.

oeroa0d ioi obd oridraad rndriddq dob0n.

On 1.I.2OOO N.M. Rao obtained a mining lease on the terms that a royality
oft 8 per ton.

Minimum rent ? 4O,OO0 p.a.

Ttre recovery of shortworking was limited to a period of first four years of the
lease following information is given :

8

Output in tons

4000

4500

5400

6500

Prepare necessar5r ledger accounts in the books of N.M. Rao.

4/6

28,500

21,850

10,000
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1 . l.2OOOdo$ rd.ndr. uaf sddr ?"od) tro{rl do. 8 dod oEryCddod ,irlf olrdr"t

dd6d)"r raaFd d&q?,rdad d.o. 40,OO0.

3.oder> udeDr d-drFrlsrO d6dl @dJn4dd{&oddobo&dr dD8dqob d, *qtdodo3d :

ddr

2000

2001

2002
2003

cudB

4000
4500
5400

6500

id.adt'.ua-6 sdd Odddo-rrdddd$drd erodddqdobos.

9 Mr. Harish purchased a machinery on hire purchase system. The total cash price
of tle machine was 1598OO, payable < 4O,0O0 Down pa5rment and 3 instalments
of t 60,OO0, < 50,000 and t 20,00O payable at the end of first, second and third
year respectively. Interest is charged at 5olo p.a. Rate of Depreciation 25-9zo p.a. on
diminishing balance method. Pass necessar5z journal entries in the books of
Mr. Harish.

&). doed uod.r oboSrddtr oaAd d,nd+$d ddeSobo- ddAdled. oSogd r"tq drld; a3d

d-6. 1 59800d{dr dddodod a-dJ.giare6-dM.

d,o. 4O,OOO obodrddq ddoJ;oaarl t A EDJ3 drad"r dod.rrldd d-o. 60,000, ?^,odd( doCJ

drder: JdFd sodddd-dro. 5O,OO0 addde dodr addde ddrd uodrddd:Q dn. 2O,00O

dr-odde do& lMdde ddFd lrodddo rJEdd -aaFd de. 5 idde dd ua&rd de. 25 Edrdo
d.og ddeSobo-adr. doedddd d{ddduddrcd:d Odd ddMdrdddta)dooro.

10. Mr. Gajanana keeps his books by single entry system. From the following data,
Prepare trading and P/L Alc tor the year ending 31-12-2015 together with
balance sheet as on that date.
Cash book analysis show the following :

Interest charges

Personal withdrawals
Salaries

Business expenses

Payment to creditors
Balance at balk on 31.12.2O 15

Cash on hand on 31.12.2015
Receipts from debtors
Cash sales

200
4,000

17,OOO

15,800

30,ooo
4,850

150

50,ooo
30,ooo

s/6
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Further details available are :

1.1.2015 3L.L2.20t5

Stock 18,0OO 2O,44O
Creditors 16,000 1 I,OOO

Debtors 44,OOO 60,000
Furniture 2,OOO 2,OOO

Machinery 3O,OOO 3O,OO0

Provide 57o interest on Mr. Gajanana's capital as on 1.1.2015. Provide 30OO for
doubtful debts and 57o depreciation on all lixed assets.
aJ. riradd tdd.> ddldl{drldil1ed ddmdl {rad etr.rd}Bd. d, ddd drut"rd)d $ddrl€od
31-12-2015E* oodrratuJoS ;.ddFad err3, enCJ d4, rDdrldd{ sdd d.odil s} rozre6o
durJrnd{dolDo:.

tldd drldr d{dddldO9eO:mrl dr de,hd oodridr dod; arcd{
(

DA@E urJdJ 2OO

i_od Dtjcr 4,OO0
ol

doa:d 17,000
a-ddEadd r)r$F 15,800

d0rl€il d,rusJdr 30,000
?,rodoEd teDr 31.12.2O 15 4,850

d.,o$Osrd drldJ 31.12.2015 15o

abdrldod arobd: 50,0OO

drld) JDC,auJ 3o,o0o

edd dndolDd dD&8d$ dr OeB ed :

1.1.2015 31.t2.20L5

me& 18,OO0 2O,44O

d0ddc 16,000 11,000
abdddo 44,OOO 60,000
;rednedddsD 2,OOO 2,OOO

oboErl$ 30,000 30,000

1.1.2015dodr sdoog A). rluadd sdd Dod;rr{d d>ee! de. Sdod DA gilA0n, abeCrld d:ed
nodolnt'5d oQnan dD. 3oooriddtdilAon $d? ncD-:,od&rld dxcJ de. sdd ndd€o$dr
d/ld)O.

1 1. Explain the users of accounting information.
.J{n U dra&.Col) sudoloerldadd a){Sdo.t.
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